During this lecture there were difficulties with the classroom projector. I have added this green commentary to help anyone who might have missed something...

Eigenvalue-eigenvector example:  
Eigenvalue-eigenvector example:  
12. 
$$\begin{bmatrix} -1 & 0 & 1 \\ -3 & 4 & 1 \\ 0 & 0 & 2 \end{bmatrix}$$
 by using determinants  
det  $(A - \exists I) \approx det \begin{bmatrix} -1 - 2 & 0 & 1 \\ -3 & 4 - 2 & 1 \end{bmatrix}$  expending  
Expand determinant along a row  $Q = 0 = 2 - 2$  by the rows  
det  $A = \sum_{i=1}^{n} (-1)^{4i}$  aig det  $A_{ij}$  for some i frized  
 $find = x$  there are two natural choices  
to minimize number of terms  
or a column  
 $det A = \sum_{i=1}^{n} (-1)^{4i}$  aig det  $A_{ij}$  for some j fized.  
 $fize1$  there are two natural choices  
to minimize number of terms  
 $det A = \sum_{i=1}^{n} (-1)^{4i}$  aig det  $A_{ij}$  for some j fized.  
 $for some j$  fized.  
 $fize1$  the rows:  
 $det(A - \exists I) = 0 - 0 + (-1)^{3/3} (\lambda - \lambda) det \begin{bmatrix} -1 - 3 & 0 \\ -3 & 4 - \lambda \end{bmatrix}$   
 $= (2 - \lambda) \{(-1 - \lambda)(4 - \lambda) = 0$ 

Thurefore 
$$A = 2$$
,  $A = -1$  or  $A = 4$   

$$A = \begin{bmatrix} -1 & 0 & 1 \\ -3 & 4 & 1 \\ 0 & 0 & 2 \end{bmatrix}$$
Now substitute to find  $x$ 

$$A = \begin{bmatrix} -3 & 0 & 1 \\ -3 & 4 & 1 \\ 0 & 0 & 2 \end{bmatrix}$$
Now substitute to find  $x$ 

$$A = \begin{bmatrix} -3 & 0 & 1 \\ -3 & 2 & 1 \\ 0 & 0 & 2 \end{bmatrix}$$

$$A = \begin{bmatrix} -3 & 0 & 1 \\ -3 & 2 & 1 \\ 0 & 0 & 0 \end{bmatrix}$$

$$x_1 = \begin{bmatrix} -3 & 0 & 1 \\ -3 & 2 & 1 \\ 0 & 0 & 0 \end{bmatrix}$$

$$x_2 = 0$$

$$x_3 = 0$$
Note
$$x_1 = \begin{bmatrix} 1 & 0 & -1/3 \\ 0 & 1 & 0 \\ 0 & 0 & 0 \end{bmatrix}$$

$$x_2 = 0$$

$$x_2 = 0$$

$$x_3 = 0$$

$$x_2 = 0$$

$$x_3 = 0$$

$$x_4 = 0$$

$$x_3 = 0$$

$$x_4 = 0$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_1 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_2 = 0$$

$$x_3 = 0$$

$$x_4 = 0$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_1 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_2 = 0$$

$$x_3 = 0$$

$$x_3 = 0$$

$$x_4 = 0$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5 = \begin{bmatrix} 1/3 \\ 0 \\ -3 \end{bmatrix}$$

$$x_5$$

$$A= \begin{pmatrix} -1 \end{pmatrix} I = \begin{bmatrix} 0 & 0 & 1 \\ -3 & 5 & 1 \\ 0 & 0 & 3 \end{bmatrix} \quad r_2 \leftarrow r_4$$

$$\begin{bmatrix} -3 & 5 & 1 \\ 0 & 0 & 1 \\ 0 & 0 & 3 \end{bmatrix} \quad r_1 \leftarrow r_4 - r_2$$

$$\begin{bmatrix} -3 & 5 & 0 \\ 0 & 0 & 1 \\ 0 & 0 & 3 \end{bmatrix} \quad r_1 \leftarrow -\frac{1}{3}r_1$$

$$\begin{bmatrix} -3 & 5 & 0 \\ 0 & 0 & 1 \\ 0 & 0 & 0 \end{bmatrix} \quad x_1 - \frac{3}{3}r_2 = 0$$

$$\begin{bmatrix} -3 & 5 & 0 \\ 0 & 0 & 1 \\ 0 & 0 & 0 \end{bmatrix} \quad x_2 \text{ free} \quad x_1 = \frac{5}{3}x_2$$

$$X_2 = \begin{bmatrix} 5/3 \\ 1 \\ 0 \end{bmatrix} \quad x_2 \text{ free} \quad x_1 = \frac{5}{3}x_2$$

$$X_2 = \begin{bmatrix} 5/3 \\ 1 \\ 0 \end{bmatrix} \quad x_2 \text{ free} \quad x_1 = \frac{5}{3}x_2$$

$$X_3 = 0 \quad x_4 = \begin{bmatrix} 5/3 \\ 1 \\ 0 \end{bmatrix} \quad x_4 \text{ southous signary observes}$$

The last eigenvalue was done after class. The method is the same as the previous two and included for completeness of the problem.

